Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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Structural Analysis - |

“ ‘"Note 1. Answer any FIVE full questions, selectmg \ \‘
at least TW O questions from each part,

2. Assume any missing data suitably. "§\
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supported beam shown in Fig. Q3(b) Take EI is constant.
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Find the deflection under the concentrated load for beam shown in Fig.Q4(a). Using strain
energy method. Take E =2 x 108 kKN/m?, 1= 14 x 10° m*,
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PART - B

A three hinged paraboho\arch has a span of 30 mt and a ceﬁtra‘tg

se of 6 mt. The arch carries
a UDL of intensity WkN/ Over left half portion and:a~concentrated load of 6 kN at a
distance of 9 mt from rlg n}iand support, compute the \ben ing moment, normal thrust and
radial shear at 9 mt fromk x}d support. (10 Marks)
A suspension bridge of 12&mi span has a central dx}nof 12 mt and a UDL of 15 kN/m of
whole span. Determine: W

i) The maximum and minimutt enﬂon ina ca'bl

11) The size of the cable, if the pe r(niss@le stress. of the cable material is 200 N/mm’.
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A two hing d‘paxabohc arch of span 40 mt and carries a udl of 30 kN/mt over left half
portion am;l concentrated load of 120 kN at 5 mt from right hand- support Find the
horlzontal \hrust and normal thrust and radial sheath at 10 mt from rlght 'hand support.
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